Seat No.

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination
Date: 8-06-2017

Subject Code: C320003
Subject Name: ADVANCED MATHEMATICS (GROUP -2)
Time: 10.30 AM TO 12.00PM
Instructions:

1.

Attempt all questions.

Enrolment No.:

Total Marks: 70

2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option. Ul sl (AscAl.
Distance between the points (1, -2) and (2,3) is :
1 |A s B. | {23
C. |z D. | V26
(g (1, -2) AU (2,3) ARAg] VAR L,
. |A | iz B. | V23
C. |z D. | V26
The slope of the line passing through the points A(1, -1) and B(4,5) is
2. |A |1 B. |2
C. [-2 D. |3
(clgal AL, -1) Wl B(4,5) Hidll U adl el @l auL,
- A1 B. [2
C. |-2 D. |3
If lines 5x - ky = 4 and 2x - 3y = 5 are parallel then k=
3 | A |8 B. |15
2 2
C. |2 D. |3
ol UL 5x-ky =4 W 2x-3y=5 YHUAR slal Al k=
3. |A |18 B. |15
2 2
C. |2 D. |3
X-intercept of the line 2x +3y =4 is .
4. | A, |-2 B. |3
C. |2 D. |4
QUL 2x+3y =4 HE XS AUl
A [-2 B. |3
C. |2 D. |4
Equation of line passing through (3,4) and perpendicular to the line 2x -3y =1 is_.
5 | A 3x+2y =17 B. | 3x-2y=17
C 3x -2y =-17 D. | 3x+2y=-17
(g (3,4) Hiell R acll wal 2x-3y =1 Lol Aol Julle] wMls\ &l
Yoo A | 3x+2y=17 B. [3x-2y=17
C 3x -2y =-17 D. |3x+2y=-17
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The point isnotontheline x+y=1
6. [A [(0)2) B. (34
C. [(1,0 D. | (-3,4)
(LAt (g A lx+y=1 UR ol
S- A T(01) B. |34
C. (1,0 D. | (-3,4)
The point isonthecircle x> + (y-1) =0
7. A ](01) B. |(21)
C. [(1,2) D. [(1,3)
g Aadax’+(y-1°=0 UR B,
9. TA. 1(0,1) B. [(21)
C. [(1,2) D. | (1,3)
If f(x)=2"+3" then f(0)=
8 |A |5 B. |0
C. |1 D. |2
f(x)=2"+3" Y f(0)= :
¢. A s B. [0
C. |1 D. |2
For f(x)= *“1 then 1 {ij -
9 X+1 X
LA | () B. | -f(x)
C. |o D. |1
T P T {3} .
¢ X+1 X
AL | (%) B. | -f(x)
C. |o D. |1
. tan76
lim =
10 -0 0
A. | 1/7 B. 1
C. |0 D. |7
. tan760
lim =
q.O- 6—->0 0
A. | 1/7 B. 1
C. |0 D. |7
If f(x)=4x"-3x+8then f@)=__
11. A T8 B. |1
C. |9 D. [0
FO)=4x"-3x+8 W@ f@W)=____
1. A |8 B. [1
C. |9 D. |0
X+ 7
lim = __
12. x>l x +1
A |7 B. 1
C. |4 D. |0
X+7
lim = .
Q. | xd
A |7 B. 1
C. |4 D. |0
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lim = _
13, |2 x=2
A. |0 B. 1
C. |2 D. |3
. X2 —3x+2
lim =
Q3. |2 x=2
A |0 B. 1
C. |2 D. |3
d—(log X) =
dx
14. | A. 1 B. 1
X X
C. X D. - X
d—(log X) =
dx
Y. | A 1 B. 1
X X
C. X D. -X
Fory-tan4s , 2_
dx
15.
A |3 B. 2
C. |1 D. |0
y:tan450 H2 9!_: o
dx
Q.
A |3 B. 2
C. |1 D. |0
For y =cosx+9 ,d—zz L
16. dx
A. y B. -y
C. cos X D. —Ccos X
y=Ccosx+9 1-lléd Z:___
6. dx
A. y B. -y
C. cos X D. —Ccos X
li—ﬂog(secx)]: _
dx
17. | A. sec x B. tan x
C. 1 D. cot x
sec X
d
—I[log(secx)]=____
dx
Q9. | A. | secx B. tan x
C. 1 D. cot x
sec X
sin x dy
If y=e" then —=
dx
18. , .
A. esmx B esmx cos X
C_ ecosx D ecosx COS X
Qe |y=em wE Yo

dx
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A. esinx

W

sin x

e’"“cos x
C. | gcosx D. | e™*cosx
d
If y=xcosx then -
dx
19.
A. | 2xcosx B. 2X —sin X
C. 2XCOS X — X°sin X D. 2XCOS X — X sin x +¢c
d
y = x’cosx H2 Y _ o
dx
e.
A. 2XCOS X B. 2X —sin x
C. 2XCOS X — X_sin X D. 2XCOS X — X sin X + ¢
d
—(e*) =
20 dx
1A | e¥log, x B. X
C. |1 D. |0
d
—(e") =
20 dx
A e* log, x B. o
C. |1 D. |0
: dy
For y =sin@,x =cos9, —=__
21 dx
A. | coto B. tan 6
C. —tan @ D. —cotd
d
y =sin@,x = cosé, H2 —y:____
29 dx
A coto B. tan @
C. —tan @ D. —cotd
d
If x2=3xy+9 then & -
dx
A. 3x -2 B. 2% +3
22. ey ey
3X 3X
C. | 2x-3y D. 2x -3y
3X X
d
°ax2:3xy+9 cﬂ—y:____
dx
A. 3x -2 B. 2% +3
2. xmey ey
3X 3X
C. | 2x-3y D. | 2x-3y
3X X
jexdx::____
23. |A | e 4¢ B. e +¢
C. D. | ev i
jexdx::____
3. A | e 4¢ B. e +¢
C. D. | ev i
J'(cosec2 x—»cotzx) dx = _____
24. A 0 B. 1
C. COSecC X+ C D. X+ C
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J'(cosec2 x — cot’ x) dx =

R¥. A T0 B 1
C COSec X +C D. | x+c
(L

f(x)

25. |og|f(X)|+C |Og‘f'(x)‘+c
C.o | loglf(x)+ f'(0]+c Do e e
CT

f(x)
Y. A. Iog|f(x)|+c B. Iog‘f'(x)‘+c
C. lloglf )+ ' (0]+c Do | nfreo) e
1
J' dx = .
X+ 7
26. | A. | log(x+7)+c B. log(7x) +c¢
C. 7 D. 1
- +¢C —+cC
log(x +7) log(x +7)
1
J' dx = __ .
X+ 7

2. | A | log(x+7)+c B. log(7x) + ¢

C. 7 D. 1
————+c¢ — e
log(x +7) log(x +7)

j(zx—l) do = _____ +c

27. |A X —2x+¢ B. X\ +2x
C | (2x-1)0 D. 1 (2x-1)70
J'(2x—l) dé = _____ +c

V. [A x’—2x+c B. %2 4 2x
C | (2x-10 D. | (2x-1)'0
J‘e“ dx = __

28. |A. |0 B. |1
C. e2_1 D 1_e2

2 2

J‘e“ dx =

RC. |A. |0 B. |1
C. el _1 D. _e?

2 2

J' cot@do = _____ +c

29. |A Iog|tan 6’| B. Iog|sin 9|
C. Iog|sec¢9| D. Iog|cos¢9|
I cotodo = _____ +c

R¢C.

A Iog|tan .9| B. Iog|sin 0|
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C. Iogke00| D. Iog|cos€|
Iseczx dx =
30. | A. tan? x + ¢ B. sec xtan x + ¢
C. sec X + ¢ D. tan X + ¢
Jseczx dx =
30. | A, tan? x + ¢ B. sec xtan x +c¢
C. sec X + ¢ D. tan X + ¢
Mean of observations 2,3,5,7,8 is .
31. |A. |5 B. 10
C. |55 D. 6
wadAlsell 2,3,5,7,8 oll HEAS_ .
3. [A 5 B. 10
C. |55 D. 6
Median of observations 10, 9, 2,3, 1, 5,7,8, 13 is
32. | A 7 B. 9
C. |8 D. [10
wcAlsoll 10,9, 2,3,1,5,7,8, 13 oll Hr2lRU .
3. [A. |7 B. |9
C. |8 D. |10
Mode of observations 7,9, 7,5, 1, 5,7,8, 13 is )
33. |A 5 B. 13
C. |8 D. 7
AdCAsell 7,9,75,1,5,7,8, 13 oll GEAS 8.
33. [A 5 B. 13
C. |8 D. 7
Mean of first five natural number is )
34. | A 5 B. 2
C. |3 D. 1
yaH Ui Uislds dveldlell Hls B,
3%. A |5 B. [2
C. |3 D. 1
Median of first ten natural number is .
3. A 55 B. 10
C. |5 D. 6
yad €9 Uls(ds dvallell MR B,
3W. ['A. |55 B. [10
C. |5 D. 6
If f(x)=x"+x"+2 then f(-1)=
36. A [3 B. |0
C. |2 D. 1
FOO=x"+x"+2 W@ f(-1=___ .
3. [A [3 B. |0
C. |2 D. 1
If f(x)=1log,x then f(5)=______
37. [A. ]5 B. |1
C. |0 D. 10
39. | f(x)=log,x H& f(5)=______.
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A |5 B. |1
C. |0 D. |10
. 2Xn
lim =
38, ———°O
A |1 B. |2
C o D. |0
. 2Xn
lim =
noeo
3¢. A |1 B. |2
C. | w D. |0
If f(x)=1logx then f(xy)=______
39. A | f(x)f(y) B. f(x)+ f(y)
C. | 1(0)/t(y) D. | f(x)- f(y)
f(x)=logx H& f(xy)=______.
3¢. |A | () f(y) B. | f(x)+ f(y)
C. | 1(0/t(y) D. | f(x)-f(y)
3" -1
lim = ____
Xx—0 X
40. A. B. log x
C. |1 D. log 3
3" -1
lim = ____
x—0 X
%0. A |3 B. log x
C. |1 D. log 3
o (xP-x
lim | |= ____
41, | UL
A |0 B. |1
C. |x D. |-1
S xP=x)
lim | |= ____
yq. | L x-t)
A |0 B. |1
C. |x D. |-1
If y=xe" then & _ _
dx
42. | A e’ (x+1) B. x(e"+1)
C e’ (x-1) x(e" —1)
yoxet W2 Y
dx
2. 1A e’ (x+1) B. | x(e"+1)
C ex(x_l) X(ex—l)
d 1
—(tan "x)=___
dx
s | 2 S s
1+ X 1-x
C. 1 D. 1
1+ x° 1-x°
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d -1
—(tan " x) =

dx
A. -1 B. -1
¥3. - -
1+ x 1-x
C. 1 D. 1
1+ x° 1-x’
d
Ify = x + 49 then —y:_ __
44, dx
A |1 B. |49
C. |0 D. |-1
d
y=X+49 H2 —y=____
X% dx
LA |1 B. |49
C. |0 D. |-1
dz 2x+5
e
) A 262X+5 B 462x+5
C. er+5 D 5er+5
dz 2x+5
dx’ (&)=
¥U.
A. 262X+5 B 462x+5
C. er+5 D 592x+5
2
y:X+ then d—y:____.
X dx
A. X2 +2 B. -2
46. - -
C. |1 D. 2
XZ
2 d
y= o Lo
X dx
A x*+2 B -2
¥S. ) i
C. |1 D. 2
X
Equation of the motion of moving particle is given by s = 3t* - 2t +17 , then the
47 | Vvelocity at t =1 second is
VR B. |2
C. |4 D. |1
As oA sl stalell oA of AlsWU s =3t"-2t+17 ), A t=1 ASed 5Qoll
¥o. | Q9L Al
A |6 B. |2
C. |4 D. |1
If f(x)has maximum value at x = x, then
48. | A f'(x,)>0 B. f'(x,)<0
C. f'(x,)=0 D. f'(x,)>0o0r f'(x)<0
‘e ol (AR f)al x=x WA HedH Yeu dlat Al .
LA | f(x) >0 B. | fi(x)<0
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C f'(x,) =0 D. f'(x,)>0or f'(x,)<0
—(x") = x" (______ )
dx
49. A 1-log x B. 1+ log x
C x“(1-log x) D. | x*@+10gx)
d X X
—(x)=x" (______ )
dx
LI 1-log x B. 1+ log x
C. x (1-log x) D. x (1+ log x)
If y =cos’x+sin’x than ay _ L
50. dx
A |0 B. |1
C. |2 D. | -1
y = cos’ x+sin’ x 2 d_y: L
dx
Yvo.
A |0 B. |1
C. |2 D. | -1
I4x3dx::____
5L A. 4x’ +¢ B x'+c
C. X +C D. 12x° +¢
I4x3dx::____
4. | A 4x* +c B. x+c
C. x*+c D. 12x° +¢
1
Jl —dx = ____
+ X
52- A. _tanilx_{_c B. tan X + ¢
C. tan X+ ¢ D 2x +C
J dx = ____
w2 1+ x
' A. —tan X+ ¢C B. tan X+ ¢
C. tan 1x+c D 2x +C
I x dx =
53. | -3
A |3 B. |3/2
C. |0 D. |1
I xdx=____
ys., | -
A |3 B. |32
C. |0 D. |1
Iu(x)v(x)dx = u(x)fv(x)dx——j[{ _____ }Jv(x)dx}dx.
A. d B.
" E;;u(x) Iu(x)dx
. D.
C Iu(x)dx jL{V(X”
dx
uy. J‘u(x)v(x)dx=u(x)jv(x)dx—j[{ _____ }J’v(x)dx}dx.
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A. d_u(x) B Jueadx
dx
C. Iu(x)dx D. ii{v(x”
dx

J'sin xdx=__
55. | o

A |2 B. |-2

C. |0 D. |1

Isinx dx = __
Uy, | o

A |2 B. |-2

C. |0 D. |1

I(Zx—l)dx: _____ +c
6. A. X' —2x+c B. x?—x+c

C. X" +X+C D. X' +2x+¢

I(Zx—l)dx: _____ +c
u4s. | A X —2x+¢c B. X?—X+¢

C. X2+ X+cC D. X' +2x+¢

Area bounded by the curves y = x*, x - axis and lines x =0,x =1 is .
57. A ]0 B. |1

C. |13 D. |23

asl vy =x", x —axis el x=0,x=1cdd AAAA YE2Ua] AASN AL,
W. A To B. |1

C. |13 D. |23

If mean of observations 4, 7, 6, a, 5, 9 is 6 then value of a is
58. |A. |6 B. |4

C. |5 D. |2

waAlsel 4,7,6,a,5,9 ol Heas o6 &l l a=__ .
. [A 6 B. [4

C. |5 D. |2

If median of observations 12, 9, 14,23, b, 18, 8 is 16 then value of b is
59. |A. |16 B. |17

C. |18 D. |20

waAsel 12,9, 14,23, b, 18, 8 oll He2AU 1 16 &l ll b= .
e Fa 16 B. |17

C. |18 D. |20

If the mode of observations 2, 3, 3, 2,5, 3, 7, 8, 2, ¢,7 is 3 then value of c is
60. |A. |2 B. |7

C. |3 D. |8

Ucclsell 2,3,3,2,5,3,7,8,2,¢,7 oll gt % 3 8A dle=_
SO. [A 2 B. |7

C. |3 D. |8

Mean of first five prime numbers is
61. |A. |55 B 5

C. |57 D. |56

YUH UL At dugllell HEls .
ST A |55 B. |5

C. |57 D. |56
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Median of first six prime numbers is

62. |A. |5 B. |6
C. |7 D. |4
YaH i wlQeut duaizllell Heue 8.
S [A [5 B. |6
C. |7 D. |4
X-intercept of the line y +4=0is__.
63. |A. | -4 B. |4
C. |0 D. | Not defined.
QUL y+4=0 ofl X-3c:uis 8.
s3. |A. |4 B. |4
C. |0 D. | cavan@ct stell.
Slope of the line 4x -2y +11=0 is .
64. |A. |3 B. |2
C. |4 D. |11
QUL 4x-2y+11=0 ofl @l 8.
s¥. [A. [3 B. [2
C. |4 D. |11
Centre of the circle x*+(y-2)*=0 is .
65. [A. (0,2 B. 1(0,-2)
C. [(1,2 D. | (2,2
ada x*+(y-2)" =0 of 3o, 8.
SW. A T(0,2) B. [(0,-2)
C. [(1,2 D. | (2,2
Equation of the circle whose centre is (0,0) and radius is 3 is
66. A. x2+y2:3 B. x2+y2:2
C. x“+yi=09 D. (x-3)"+(y-3)"=0
% ddile] Jox (0,0) ua Bwel 382 A ada of wllseL
SS. A X2+y2:3 B X2+yZ:2
C.olxt+y’ =0 D. | (x-3)"+(y-3)7=0
If general equation of the circle is x* + y* + 2gx+ 2 fy + ¢ = 0 thenradiusis .
67. |A | 2g+2f+c B. c
C. \/gz+f2+C:O D CZ
ol ddue] cautus AlsWQ x* + yPr2gx+2fyrc=0 A A Aoll Blwall __
L.
SO.
A | 2g+2f+c B. c
C. \/gz+f2+C:O D CZ
If distance between points A(x,-1) and B(3,2) is 5 then x=
68. |A. | x=-7Torx= -1 B. [ x=7o0orx=-1
C. [x=-7Torx=1 D. [ x=7o0rx=1
ol (g A(x,-1) Ul B(3,2) o] R 5AsH 8lal Al x=__.
SC. A [x=-Torx= -1 B. [ x=7o0orx=-1
C. [x=-7Torx=1 D. [ x=7o0rx=1
69 Equation of line passing through points (3,2) and (-3,2) is

A. ‘y:Z

B |

X =-3
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C. [a2x+3y=1 EREE

(g (3,2) Aal (-3,2) Hiell AR adl Ruite] AllseL e,

se. | A y=2 B. X =-3

C. 2x+3y =1 D. X = 3

If (1, -1), (b, 5) and (2,1) are colinear then value of b=
70. [A [-4 E

C. |4 D. |1

ol (gl (1,-1), (b,5) U (2,1) AW 8a Al b=
90. A |-4 B 3

C. |4 D. |1
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